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FLUID MECHANICS
forerifea 9o AF L | [SfereseaH 3 : 70
Time allowed : Three Hours] ' [Maximum Marks : 70
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Note : Question No. 1 is compulsory, answer any five questions from the remaining.
i) e 3 el AR G A 6 T |
Solve all parts of a question consecutively together.
muwﬁmﬁ#wﬁmwﬁW:
E Start each question on a fresh page.
« m#ﬂW%mﬁﬁ%Mﬁmﬁmm
g Only English version is valid in case of difference in both the languages.
g
o
§ L () e R e i e |
= Write about types of fluid.

(i) <= 9 T E 2
What is pressure head ?
(i) e g fdfed |
Write the continuity equation.
(iv) T Zg o T T &Il © 2
What are the functions of draft tube ?
(v) ST e = T T el € 2
What is slip in reciprocating pump ? (2%5)
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WE % SR SrEATd & ford g wifed
Prove for differential manometer :

W

S .
=h =x(§h— I] &1 / where
L

S, = YRl TRl Sl TR T
Specific gravity of heavy fluid
S, = & TReT T SUfETH T
Specific gravity of light fluid
x= S qeTei 3 UR & qe7 H SR
| Difference of mercury level in both limbs
w= UHE & 9% 59

Weight density of water

(i) T a7 T T & 9

(i)

(ii)

(i)

(ii)

What do you understand by dynamic viscosity ? | 8+4)

T TR e fgeht 451 1 m 3, S1 6 et @ g ade & 9 400 H ior s
& | ®IC I ! o Hee & AaH TEE 1 m @, o ©i W el 819 UE O 55 9
feafer s =ifs=r |

A square plate of 1 m side is inclined at 40° from free surface of water. The
minimum depth of plate from free surface is 1 m. Calculate total pressure and
position of centre of pressure.

aqfrn‘\zrqamﬁﬁmﬁmﬁ 3= feafEd |

Write difference between venturimeter and orifice-meter. (8+4)

fordll ST ATl o stfueay fiaemdt uitedy & foe O wenfua SR |

Derive the formula for most economical section for rectangular channel.

TEANTIITEAT § SRS T 3 Ge9 r fany fares |

Write procedure of verification of Bernoulli’s theorem in laboratory. (6+6)
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(i)

friction are 0.0065 and 0.00475 respectively. Calculate the discharge through

them, when difference of water level between resérvoir is 3.5 m.
HIFAHR A9 T yeqre & fopat ST T Hife |

Derive expression for flow over rectangular notch. (8+4)

Two same size orifices are fitted on vertical side of a tank 10 a straight line. The
vertical distance between two orifices 1s 2.5 m and the level of free surface of
water in tank is 2.5 m above the centre of upper orifice. If the coefficient of
velocity is 0.98 for both orifices, then determine the horizontal distance where

the two sets wil] meet.
T TN % Fre ffiar |

Write Laws of Fluid Friction, (8+4)

mﬁw@wﬁmﬁwﬂﬁa |

Describe the working of Pelton whee] turbine with the help of neat sketch, (6+6)
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8. e w ket fevforat fofad :

Write short notes on the following :

(i) TeHfFae T

Submersible Pump
(if) e

Vapour Pressure
(iii) HEHT T&G=

Flow through Syphon
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